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FrferRea Frewt <1 siga A@aT & fer 3R 3T Tt & 9T i :

(i) 3T YFT-97 5 o738 Fo7 8 | G 5o ST E

(i) I8 J57-97 qid @S] 7 [qyifsia & — @ve-%, &, T, F G & /

(iii) GUE— & H 357 &1 1 T 18 TF TgITHcd1T 79T 357 TG&IT 19 TF 20 37T U9 7
STIRT 1 3% & Fo7 8 |

(iv) GUS— @A go7 G&I121 @ 25 7% 3fa 7g-3707 (VSA) FBR 3 2 3] & Fo7 8 |

(v) G- TH YT GEI26 8 31 7% G-It (SA) YR & 3 3] & o7 & |

(vi) TUS— T H Y37 TE&T 32 T35 T 1e-3FT1T (LA) FPR & 5 37h] & F97 8 |

(vii) TGUE— F T F97 TEIT 36 T 38 JHTT ST STETRT 4 371 % o7 & |

(viii) F57-97 4 GHF 3T F87 1337 77 8 | TeIf9, s — & & 2 Jo41 4, @S — T & 3 Jo1
H, GUS— g2 Y9 4 79T @US-F 3 2 J¥1 § HIaRe laeheq &7 JIaelT 1597 77 8

(ix) depaict &1 35T AT g /

e -F
T4 WUE § 20 Tgfahed 1y T & | Teh T 1 1 3H 7 | 20 x 1=20

1. 3Ife Equn F & wWad w2l € e e P(E) =§aen P(F) :%%, a P(E/F)
SR :
1 1
(&) s (B) 5
2 7
(©) 3 (D) 5
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General Instructions :
Read the following instructions very carefully and strictly follow them :
(1) This Question paper contains 38 questions. All questions are compulsory.
(i1)) Question paper is divided into FIVE Sections — Section A, B, C, D and E.
(iti) In Section A — Question Number 1 to 18 are Multiple Choice Questions
(MCQs) and Question Number 19 & 20 are Assertion-Reason based
questions of 1 mark each.
(iv) In Section B — Question Number 21 to 25 are Very Short Answer (VSA)
type questions, carrying 2 marks each.
(v) In Section C — Question Number 26 to 31 are Short Answer (SA) type
questions, carrying 3 marks each.
(vi) In Section D — Question Number 32 to 35 are Long Answer (LA) type
questions, carrying 5 marks each.
(vit) In Section E — Question Number 36 to 38 are case study based questions,
carrying 4 marks each.
(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section — B, 3 questions in Section — C, 2 questions in

Section — D and 2 questions in Section — E.

(ix) Use of calculator is NOT allowed.

SECTION - A

This section comprises of 20 Multiple Choice Questions (MCQs) of 1 mark
each. 20x1=20

1. If E and F are two independent events such that P(E) = %, P(F) = %, then

P(E/F) is equal to :

1 1

A — B -—

(A) 5 (B) 7

2 7

C) = D) —

(©) 3 (D) 5
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aﬁa—l—zlj +9ka@n[3 =9} —8_] + ok O TR T aew E @ o w

(B) 18
D) —

(B) —tanx+2secx+C
(D) tanx+2secx+C

- - — —> - - — - -
e a+b+c=0,]a | =37, b | =30AT| c |=4%,d b au ¢

(B)

ojla e

D)

Teh PRIV et o1 I G2 o1 & | F o | S 1 3ok S[cohH o AT ol gl

Y

AN

2.
aag:
(A) -18
- 34
o) 2=
©) 5
3. jw dx SR :
cos” x
(A) tanx—2secx+C
(C) —tanx—2secx+C
4.
& ST HTHITR :
A) &
A) 5
o =X
©) 3
5.
27
1.
(A)
- m/2 0 /2
~1
©
65/1/2
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- A A A - A A
Ifa =1 -4 +9k and B =21 — 8j + Ak are two mutually parallel

2.
vectors, then A 1s equal to :
A) -18 (B) 18
- 34 34
) —— D) 2=
© 5 (D) 9
3. J-1—2+nx dx 1s equal to :
cos” x
(A) tanx—2secx+C (B) —tanx+2secx+C
(C) —tanx—2secx+C (D) tanx+2secx+ C
e g - - -
4. Ifa+b+c=0,]a | =437, b |=3and | ¢ | =4, then angle
_)
between b and E) 18
T T
A) — B) —
(A) 5 B) 1
T T
C -— D) =
©) 3 (D) 5
5. The graph of a trigonometric function is as shown. Which of the following
will represent graph of its invers% ?
=
/‘ \ 5
14 11
(A) B)
- /2 0 /2 —7/2 0 /2
-11 11
© (D)
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6. Al A HIE 3T TH I TSI & AT det(A) = 97, I det(9 A1) T 8

@A 9 (B) 92
(C) 93 (D) 94

7. Aef)=|x|+]x—1]g AFdasamada?
(A) x=0d x = 1T f(x) Gad qAT STehe 1T & |
(B) x =0 x =1 f(x) aheHIT & Iig Tad & & |

(C) x=07U x =1 f(x) Had g T e T8l & |
(D) x=0dqATx =1 f(x) 7 Tad & 3 7 & b9 2 |

8. T WM A x AT y H Tk HHETAE Boid TEl & ?

Q) y?-xy (B) x—3y

(C) sin? %+% (D) tanx—secy

9. HHT A m x n % Th G & q1 B T U@1 317 & Saes forw ATB e BAT
ﬁWﬁﬁ%lBﬁ@ﬁ{%:

(A) mxm (B) nxn
(C) mxn D) nxm

10. U Rash T uen, faeht 3899 %o Z = ax + by 8, &1 O & Th qNEg &
g afmdasaaad g ?

(A) 3HhT hacd ITTeehdd T BT |
(B) ST hael =T TH B0 |

(C) 39 M&%GHW*@W—I gHT | 81 |
(D) 3G T a1 Afrhad 3T & =ITaH 7 & |
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6. If A is a square matrix of order 3 such that det(A) = 9, then det(9 A1) is
equal to
@ 9 ® 9
(C) 93 D) 94
7. Iff(x)=|x|+ | x—11,then which of the following is correct ?
(A) f(x) is both continuous and differentiable, at x = 0 and x = 1.
(B) f(x) 1s differentiable but not continuous, at x = 0 and x = 1.
(C) f(x) is continuous but not differentiable, at x = 0 and x = 1.
(D) f(x) is neither continuous nor differentiable, at x = 0 and x = 1.
8.  Which of the following is not a homogeneous function of x and y ?
A) y2—ay B) x-3y
) sin2Y4+Y (D) tanx—secy
X X
9. Let A be a matrix of order m x n and B is a matrix such that ATB and BAT
are defined. Then, the order of B s :
(A) mxm (B) nxn
(C) mxn (D) nxm
10. If the feasible region of a linear programming problem with objective
function Z = ax + by, is bounded, then which of the following is correct ?
(A) It will only have a maximum value.
(B) It will only have a minimum value.
(C) It will have both maximum and minimum values.
(D) It will have neither maximum nor minimum value.
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X it &
-1 0 0
11. aRA=|0 1 O[3 MA 'R
0 0 1
-1 0 0 1 0 0
A |0 -1 0 B) [0 -1 0
0 0 -1 0o 0 -1
-1 0 0 -1 0 0
© |0 -1 0 M |0 1 0
0 0 1 0 1
12. Www¥+ = 1Y o qurerem o 3
X X
(&) xer ® <
© = D) xer
e
13. WA A = [a,) T HIR 3 %0 o onee & Pt a = § — 218, @ P A A AR En
77
(A) a,,>0 (B) &fta;<0
©€) aj;g+ag =-6 (D) ayg3>ag
14, B f(x) =x3— 3x + 21 [0, 2] H AU I AR &
(A) 0 (B) 2
©) 4 D) 5
1 1
15. zr&j2—2 dx=k -2% +C®, Ak SqR 3
X
~1
A) Tog 2 (B) —log2
1
© -1 (D) 3
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EieAAE
-1 0 O
11. IfA=|0 1 O0f,thenAlis
0 0 1
-1 0 0 1 0 o0
(A) 0O -1 0 B ([0 -1 O
' 0 0o -1 o 0 -1
-1 0 O -1 0 0
©) 0O -1 0 M@ (0 1 0
0 0 1 |0 0 1
. . ) ) . dy _l+y .
12. The integrating factor of the differential equation I +y= 1s
X X
ex
(A)  xe® B) —
x
x 1
© = (D) xe™

e

A A
13. Let A = [aij] be a square matrix of order 3 such that ay = j —21i. Then
which of the following is true ?
A) a;4,>0 (B) all a < 0

(C) a;g+ag =-6 D) ay3>ag,

14. The absolute maximum value of function f(x) = x> — 3x + 21in [0, 2] is :

@A o B) 2
C) 4 D) 5
1
2? 1
15. Ifj—2 dx=k -2 + C, then k is equal to
X
-1
A) (B) —log 2
log 2
© -1 D) =
9
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16. afe A qun B gehavlia 3melg &, A i A s an e A 7 2

(A) A+B)yl=Bl+Al (B) (AB)l=B1A"1

(C) adj(d)=]A|AT D) [A|l=]A1
17. o geh TnfE auen o Aot e o gErd & & S I (2, 72), (15, 20)

3R (40, 15) & 1 A Z = 18x + 9y THHT 3¢9 %o &, 1

(A)  Z (2, 72) W Af=had, T (15, 20) T =IIaH BT |

B) Z (15, 20) W Afehad, a1 (40, 15) W =L & |

(C) 7 (40, 15) W Aferehad, a1 (15, 20) T =W B |

D) Z (40, 15) W Afeehaw, a1 (2, 72) T =Hd9 &R |

18. Tk y2 = x, x = 4 AT x-378T o S o SHAT(hd &1 hl &h Jed & :

2

1 x=4

4 2
@) [xde ® [y?dy
0 0

4 4
(€) 2j&dx (D) j&dx
0 0

ANTHYT — Tob TG T
S : wd w19 3R 20 3fReA (A) 3R Th (R) TG T4 &, Tcdeh T &l 1 70
2 12 ke feu e E | o s 1 fihe (A) 9T gat 1 b (R) gT ifehd feharm T 3 |
S U1 % &l IR A QUM ISt (A), (B), (C) 3R (D) # & e i |
(A) <FIl, AHL (A) aUT b (R) TEI & | doh (R), YA (A) Y TE ST L
21
(B) THI, A=Y (A) auT b (R) W&l @ Wg o (R), AMheA (A) &t @l =men
T H@A
(C) 3TfheM (A) W& B Tg T (R) T 7 |
(D) IIRFFL (A) Teld & e deh (R) T8I 2 |
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16. If A and B are invertible matrices, then which of the following is not correct ?
A A+Bl=Bl+A1 (B) (AB)"!=B1Al
(C) adjA=1A]A" D) A|7T=]A1]

17. The corner points of the feasible region in graphical representation of a
L.P.P. are (2, 72), (15, 20) and (40, 15). If Z = 18x + 9y be the objective
function, then
(A) Zis maximum at (2, 72), minimum at (15, 20)

(B) Z is maximum at (15, 20) minimum at (40, 15)
(C) Z1is maximum at (40, 15), minimum at (15, 20)
(D) Zis maximum at (40, 15), minimum at (2, 72)

18. The area of the shaded region bounded by the curves y2 = x, x = 4 and the
x-axis is given by

2_
1 x=4
5 6
4 2
@) [xdx ® [y?dy
0 0
4 4
(©) 2IJ¥dx (D) j«/?dx
0 0

Assertion - Reason Based Questions
Direction : Question numbers 19 and 20 are Assertion (A) and Reason
(R) based questions carrying 1 mark each. Two statements are given, one
labelled Assertion (A) and other labelled Reason (R). Select the correct
answer from the options (A), (B), (C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

65/1/2 Page 11 of 24 P.T.O.
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: T Z qUTTehi 1 T & | Toh e f: Z — Z, S f(x) = 3x — 5,

Vx € 7 g Iieia 2, Tehehl-3AT=sTes © |

. T o ST Tehoh! & AT 3TTBIEH H &, Toheh!-3TT=0TeHh 2T 2 |

— <
:f(x):{Sx 8 x<5

2k , x>5

k=g%%ﬁ,x=5mﬁﬂﬂ%|

1 x=a WhH f 9dd g Ife

A gy = I ) = )

Qg -9 5x2=10

39 @UE H 5 317 oy -3 T & | Tk Y9 % 2 3 ¢ |

21. (a) < T STOHT- 37O TAMI & T ISTd 7 UTd & foh ITeh! TaT ohl SR Teh GO I
W E | i W aRe a =31 + ] +2kab =21 — 2] + 4kgW
feftra o <1 @ehe 2 | a2 WA g 6 it # i e 78 2, 3 "

1A ShITTT |

YT

(b) RET 21 3T H1 Uk TR T HE S wRw AB 91 Rt ke i 3 @
A2, 1, 3)aaT B(8, -1, 0) € |

22. ‘@’ 9 UM Fd shifo, foHeh feTe f(x) = 22 — 2ax + b, x > 0 % fTT ITAH B 2 |

23. (a) 208X T cos? x o HIULT Hefehard hIfT |

AYAT

) = tan (2 +y) = a2, @ ? T HIRT |
X

65/1/2
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19. Assertion (A) : Let Z be the set of integers. A function f : Z — Z defined
as f(x) = 3x — 5, Vx € Z is a bijective.

Reason (R) : A function is a bijective if it is both surjective and
injective.

3x—8 x<5
20. Assertion (A) : fx) =4 _ o ¥
2k , x>5

) ) 5
1s continuous at x = 5 for k = 3

Reason (R) : For a function f to be continuous at x = a,

xlgn a- f(x) = xlgn at f(x) =f(a).

SECTION - B 5x2=10
This section comprises of 5 Very Short Answer (VSA) type questions of
2 marks each.
21. (a) Two friends while flying kites from different locations, find the
strings of their kites crossing each other. The strings can be
- A A A — A A A
represented by vectors a = 31 + j + 2k and b =21 — 2j + 4k.

Determine the angle formed between the kite strings. Assume there
1s no slack in the strings.

OR
(b) Find a vector of magnitude 21 units in the direction opposite to that

—
of AB where A and B are the points A(2, 1, 3) and B(8, -1, 0)
respectively.

22. Find the values of ‘a’ for which f(x) = x2 — 2ax + b is an increasing function

for x > 0.

23. (a) Differentiate 2°°5°* w.r.t cos? x.
OR

() Iftan~! (x% + y?) = a2, then find g—y
X

65/1/2 Page 13 of 24 P.T.O.
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24. sin™1 (sin Bgnj T Y FTd ShINTT |

25. wwaﬂﬁawmwaﬁﬁqﬁ@amﬁa—zl—3+k6m
b=/1\+33—k‘g{|1'[ﬁ'5ﬁﬁ‘6’|

Qug - T 6x3=18
39 GUS H 6 7Y 30T T § | T T 6 3 37 ¢ |
26. (a) TEARAHRTRET =(1-1)i +(A—2)] +(3— 2k @
T =(u+ 1)? +(2],t—1)/j\ — 2+ 1)ﬁgm9aﬁ%@ﬁf%rm€ﬂa% | 37a:
$Toh 19l ohl =AM gl T HIT |
YT
(b) Uk fshehe =1 H, Tiges, ferehe shiow 3fiv o feetu & weres o feufa ues ufera o 8
@ B =21 +8], W=61+12] wn F =121 + 18} g s wem
2 | 98 39Ta F1d Hifoe fored foehe Hor, Tears 3t o feeta & 1@ 1 firet
Tl T@T @UE 1 fauTiord shear 2 |

27. T g oM™= TuE 6l U AT g hIfU
=eEl x +y < 80

2x+ 3y > 100
x> 14,y > 14 % JFdd

7 = 20x + 30y T ITTIHAHHIT AT |

28. T thetd BT AT T &hA 48 cm?/s hl G T §¢ T&T & | 3N hl oS Hed 3aehl
TSTS o 11 o GHM &l & | 3TA shl TETS o g <hl T AT hifTT, 37 ek STe SHeh!
T*«|§|€,IT§’4.5 cm & |

65/1/2 Page 14 of 24
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24. Evaluate : sin sm?
— A A A

25. The diagonals of a parallelogram are given by a = 21 — j + k and

—> A A A

b =1 +3j — k. Find the area of the parallelogram.

SECTION - C 6x3=18
This section comprises of 6 Short Answer (SA) type questions of 3 marks

each.
- VAN A N
26. (a) Verify that lines givenby r = (1 — )1 + (A —-2)j + (3 — 20)k and

Y=+ 1i+@u-1)] - @u+ 1)k are skew lines. Hence, find
shortest distance between the lines.
OR
(b) During a cricket match, the position of the bowler, the wicket keeper

—> A A
and the leg slip fielder are in a line given by B = 21 + 87,

—> A A —> A A . .
W =61 +12j and F =121 + 18 respectively. Calculate the ratio

in which the wicketkeeper divides the line segment joining the
bowler and the leg slip fielder.

27. Solve the following linear programming problem graphically :
Maximise Z = 20x + 30y
Subject to the constraints :
x+y<80
2x + 3y > 100
x>14
y>14

28. The area of an expanding rectangle is increasing at the rate of 48 cm?/s.
The length of the rectangle is always square of its breadth. At what rate
the length of rectangle increasing at an instant, when breadth = 4.5 cm ?

65/1/2 Page 15 of 24 P.T.O.
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29. (a) Tordll wifvar, weh werm o foenfefan shi srqufeafa S g w1 miesdr s = fen

TR

X 0 2 4 5

PX) 2p | 3p

&l X, agcr@a@mﬁﬁ'aﬁﬁsﬁwél

() pTHA I HINT | 1
(i) e 1 Ufed @ aTet ferenfeR 6t wren =1 urex 3a Hifs | 2

S
(b) TR v ¥ fosiua ffeaan & faw 3000 3ufieari 3 3Aeer few | g itwer @

g I T T Pl 3+|3|q4qod75ﬁaﬂ§ 9T AigATT off qe 3 gey & | TRl

fore == ferfaa wdven gro foma T | STIGHRATST < YewH o Tehd fietar @ R
forfga wlen & us qew = fafse 376 w3 <6t wif¥esar 0.4 2, a1 afgen &
fofTe 37k ST St 3h1 TRIRdT 0.35 & | STRIshdl HTd hITSY o6 Argeean g1 T/
Frereeh, forfaa gden 3 fafare 3t g e o 2 |

30. (a) TAhINT :I cos 24 dx

(sin x + cos x)2
YT

5sin x +3 cos x
dx

(b) T FTd HITT :

sin X + cos x

o l—,[\ﬂ;\

31. y=| x+3 | o UTH SHIST AT THTH o AN F o5k AT x-3787 o &< o 3T &5 i
FAFA A HINT A x = —6TMx =0 F FIHAE |

LCLCin) 4x5=20
T EEH 4 AG-ITT YT S | TAh T 5 3Th 2 |

’ 2
32. (a) cos ! (2xV1—x2 )% @mNe tan! 1;x ,xe(%,ljwwaﬁﬁql

AYAT

/2
(b) FGy =xtanx+ xZ*la,a%j—iwﬁm'

65/1/2 Page 16 of 24
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29. (a) The probability distribution for the number of students being absent
in a class on a Saturday is as follows :

X 0 2 4 5

PX) | p [ 20 | 3p | p

Where X is the number of students absent.

(i) Calculate p. 1
(11) Calculate the mean of the number of absent students on
Saturday. 2
OR

(b) For the vacancy advertised in the newspaper, 3000 candidates
submitted their applications. From the data it was revealed that two
third of the total applicants were females and other were males. The
selection for the job was done through a written test. The
performance of the applicants indicates that the probability of a male
getting a distinction in written test is 0.4 and that a female getting a
distinction is 0.35. Find the probability that the candidate chosen at
random will have a distinction in the written test.

30. (a) Find: [—2% 2X g

(sin x + cos x)2
OR

1

2 .
(b) Evaluate : J-5s1nx+3cosx de

sin X + cos x

31. Sketch the graph of y = | x + 3 | and find the area of the region enclosed
by the curve, x-axis, between x = —6 and x = 0, using integration.

SECTION - D 4x5=20
This section comprises of 4 Long Answer (LLA) type questions of 5 marks
each.

[{ _ .2
32. (a) Differentiate tan™! vi-x” w.r.t. cos ! (2xvV1—x2), x e {L,lj

x V2
OR
dy x?+1
(b) Find =, ify=xtanx4 = __—
dx 2
65/1/2 Page 17 of 24 P.T.O.
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33. ®eM f(x) = 2% — 15x2 + 36x + 1% [1, 5] ¥ T I=ray qen Fruer =maw o 3
T |

34. U Tl 310 Tt ol 1 wal o |19 o o€ § STefed Sl <1edl § : ©d, i

3R T1eh

o WA F" & forenRial & gem, wifid qun e Fowi & foeniiE f gen %
ATl o GHH & |

o Tiftq oere o feranfn bt T, et Fete o forenfiE Y g & g @ 20 e
|

o T NI aAS § Safed ferenfE i peT T 180 & |
Afess faftr g fafi oret & smefeq ferenfiRit i e e Hifvw |

% @ @l ; 22 2fr1%|gA(1 6, 3) 1 Wit A' s Hifra | faigait A 7en
A’ﬁﬁﬁmﬁ@wﬁwﬁmﬁml
S

(b) %@1“5 yf’ 2~ 6 e i fiig P w1 i ekl fiig Q(2, 4, —1) &

@7%@‘@ | PWQaﬁﬁEﬁ?ﬂFﬁi‘@Taﬂﬂtﬂw?ﬁmiﬁﬁQ |

QqUg - T
TH GUS U 3 TehTUT LI ST 99 & | Tceh Y9 h 4 31 ¢ | 3x4=12
36.
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33. Find the absolute maximum and absolute minimum of
function f(x) = 2x3 — 15x2 + 36x + 1 on [1, 5].

34. A school wants to allocate students into three clubs : Sports, Music and
Drama, under following conditions :

o The number of students in Sports club should be equal to the sum of
the number of students in Music and Drama club.

o The number of students in Music club should be 20 more than half
the number of students in Sports club.

. The total number of students to be allocated in all three clubs are

180.
Find the number of students allocated to different clubs, using matrix
method.
. . . . .. x y—-1 z-2
35. (a) Find the image A' of the point A(1, 6, 3) in the line T =T= T

Also, find the equation of the line joining A and A".

OR
. X . x+5 y+3 z-6 . .
(b) Find a point P on the line = 1 = 5 such that its distance
from point Q(2, 4, —1) is 7 units. Also, find the equation of line joining
P and Q.
SECTION - E
This section comprises of 3 case study/passage based questions of 4 marks
each. 3x4=12
36.
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g O
Teh Seh U4 UTeh! bl Al Yo o SATS W U7 3UeTsd hUrdl =, oI T fhers <,
FAIST & 3TN Afuset € | Soh o fUset 3TThsl W I8 T1d & T UTeh fhats <X, Tl X
1 INTS ST A 10%, 20% 3T 70% Tkl o H1 -1 ITed hid & | 0T o &
TG UTEeh VT T YA HL Tehdl ¢ AT 3K Feb H o i L Tehdl & | S o 3MThgl A
TdT Tl & Toh Tohereg T2, Teaifem e 3T Iftuset & W kot o1 o e fordt safea gra o
IITAT T b A oh! JTIehT HUST: 5%, 3% 3T 1% % |
I o AT T T o I e
(i) R M o SIG Teh UTE h 0T FohT- H Feh hid ohl T TR & ? 2

(i) TS TTEh T o o F1¢ FohH H Teb hLdl & | T JTRIehdT & foh 36+ Aftuset &
TS 9T R ot o ? 2

37.

Teh SfeTehel SO STRIATRR TR 9e 51 & 8 | T8 ©d W e & faw 35 ar@ 300

et T W oA <h Tt § | Oet o feeis O U T o iR faase 8§ S e b

1 9 wiear 8 | w1 9T 3 dieed arel T ol eTs x el U $5eh THial arefl

Y71 hl TS y WX |

T AT oh SER T = JeH1 b I G -

() = S ot |t S T qn aHiaR favTeH B SR g 8, o SR | o qen y °
ST FHhT 14 hIT | 1

(ii) R YT BT &THA & o el o &9 H fIRIT | 1

(iii) (a) &FHA BT o il fo9g TA HIT | TEfT STaherst o T & 98 Shifah

feig 3 i fom o eerhet Jrfereran 8 | stftera epma Wi @ ehifag | 2
AL
(i) (b) TUW 3TEha T % TN & 300 Hex Hur gmft & v § ufEg
SIS &1 T SAHA T shifoTT STal FHIa fa9TeH 1 oft ferm mn & | 2
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A bank offers loan to its customers on different types of interest namely,
fixed rate, floating rate and variable rate. From the past data with the
bank, it is known that a customer avails loan on fixed rate, floating rate
or variable rate with probabilities 10%, 20% and 70% respectively. A
customer after availing loan can pay the loan or default on loan
repayment. The bank data suggests that the probability that a person
defaults on loan after availing it at fixed rate, floating rate and variable
rate 1s 5%, 3% and 1% respectively.
Based on the above information, answer the following :
(1) What is the probability that a customer after availing the loan will
default on the loan repayment ? 2
(11) A customer after availing the loan, defaults on loan repayment.
What is the probability that he availed the loan at a variable rate of

interest ? 2
317.

A technical company is designing a rectangular solar panel installation on

a roof using 300 metres of boundary material. The design includes a

partition running parallel to one of the sides dividing the area (roof) into

two sections.

Let the length of the side perpendicular to the partition be x metres and

with parallel to the partition be y metres.

Based on this information, answer the following questions :

(1) Write the equation for the total boundary material used in the

boundary and parallel to the partition in terms of x and y. 1

(11) Write the area of the solar panel as a function of x. 1

(111) (a) Find the critical points of the area function. Use second
derivative test to determine critical points at the maximum
area. Also, find the maximum area. 2

OR

(111) (b) Using first derivative test, calculate the maximum area the
company can enclose with the 300 metres of boundary material,
considering the parallel partition. 2
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38. Teh el fVeTeh 3194 B g 35 FUETs T8 “daei” <hl TR shl g 1 3Teheld Hid
% foTu 3 ¢ | 918 Tt i vy T weieh Iy A = {1, 2, 3} Wufenfya &, foredt 3 -

R, =1, 3), 3, 2);

R, =1{(1, 2), 1, 3), (3, 2)}

R;=1{(1,2), 2, 1), 1, D}

R, =11, 1), (1, 2),3,3), 2, 2)

R, =11, 1),(1,2),(3,3),(2,2),(2,1), (2 3), (3, 2)}

forenfiert & o g o fore f for wemt o1 ST & < fofu shat ST &

() T 3T B ST Tged N TshHeh 8 Tg qafira 721 2 |

(i) Hee ST I SN Terqed 3 Fwfir & W] shioeh T € |

(iii) (a) G A HITC I THET & T T T e TR & HhTHeh 2 |
It

(iii) (b) F=9 R, I goddl H8Y S o fIg T i 1 e 8rm, 3= fafaw |
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38. A class-room teacher is keen to assess the learning of her students the
concept of “relations” taught to them. She writes the following five
relations each defined on the set A ={1, 2, 3} :

R, =12, 3), (3, 2);

Ry, =11, 2), (1, 3), (3, 2)}

R;=11,2), 21,4, 1§

R,={1, 1), (1, 2), (3, 3), 2, 2);

R;=11,1),(1,2),,3),(2,2),(2,1),2,3), 3, 2)}

The students are asked to answer the following questions about the above
relations :

(1) Identify the relation which is reflexive, transitive but not symmetric.

(11) Identify the relation which is reflexive and symmetric but not

transitive.

(1) (a) Identify the relations which are symmetric but neither reflexive

nor transitive.

OR
(i11) (b) What pairs should be added to the relation R, to make it an

equivalence relation ?
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